M- 33232 ME Ol &F o4 I & 0f &koh s & Of &8 ot = A (&tel - &J)
(100-701-01) JIEISIHEES 53,349,330
o NEMASYEA(NS2AHE) dBHES 53,349,330,000& = 53,349,330
(REASSEESIH)
G EHNNES(RENLESZ 0 13,294,196 213,294,196
HWEESIIS e (2SH 0 13,294,196 13,294,196
(202-704-01) OIE = 213,294,196
o NSHEEES HWEEEIIS 0E -13,294,196,000& = 13,294,196
(X59,600,000) (X52,245,000) (X7,355,000)
FA: SARSA SAIEE 530,769,826 673,726,347 A 142,956,521
(X59,600,000) (X52,245,000) (X7,355,000)
M CAEE 22| L R 432,470,285 575,522,285 143,052,000
(SAEEHEAIZHIEE S (X59,600,000) (X52,245,000) (X7,355,000)
S CAIEST MU A SEA 432,470,285 575,522,285 A 143,052,000
SAEES 128,375,730 297,623,730 174,248,000
(201-501-03) SAt - SHESN S ~174,248,000
o NESLUSSM BAS(ZAEE 202 2HAS)
74,248,000,000& = A174,248,000
3,030,000 0 3,030,000
(201-502-01) EXt= 3,030,000
o Xota 5~85 8 == AL MHEX 3,030,000,000& = 3,030,000
SAnSa

Kot 5~85 4
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SN ZE O M Of &9 IR ol Aok 5 Of & Bt S L o Bl @E)
(X6,445,000) (X6,445,000)
Kot SZEYAE & 31,313,500 30,513,500 800,000
(201-502-01) EXt= 800,000
o 354 SHY 2H =P E/S X EtFE TAH Y &
200,000,000& = 200,000
o 35M BYA 28 ST E/S & 100,000,000& = 100,000
o 75H 3 18 =Y+ E/S £ 200,000,000& = 200,000
o 75d 9= 1H SY T E/S £ 100,000,000& = 100,000
o 78 EYY 148 S E/S £ 100,000,000& = 100,000
o bad 2SH 18 YT E/L X BtEE AL £
100,000,000& = 100,000
Notd 9s& MEX& 50,322,184 49,902,184 420,000
(201-307-02) RIZFEAMAIHEE 420,000
o Xotd 956 1 2HEXS 420,000,000& = 420,000
(X22,355,000) (X15,000,000) (X7,355,000)
Kot AL SO1&E e 48,436,000 32,500,000 15,936,000
(201-404-01) BAl - SHA=2NES 7,355,000
o XotE BI1& e (28l) 7,355,000,000& = (X7,355,000) 7,355,000
(201-502-01) EXt= 8,581,000
o XotE BI1& & (Albl) 8,581,000,000& = 8,681,000
OIMIHX AD1= JHY 2 Al &X 2,350,000 0 2,350,000
(201-502-01) EXt= 2,350,000
o HIARHX AHMA OHE 2 OIMSX E&I] S AIHEX
2,350,000,000& = 2,350,000
Kot 95 2-38 A2+ AEf2H 22 11,806,871 11,179,871 627,000
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SM-EH - HP - NR Ol &F oK I E 0l &R s & O &F=H WS (& &)
(201-307-05) BI2tSIEtZ 227,000
© 954 2381 P2 FE LY 227,000,0002 227,000
(201-402-03) 212}/ At HI 400,000
o HEDEY, MAFY W=l X 100,000,00021 #4744 400,000
1546 A2 HIISH - S230He- B9 A
L35 a0 2,283,000 0 2,283,000
(201-502-01) EX-3 2,283,000
o Bl HIISA E23010-E240l A2 22z
2,283,000,000% 2,283,000
ASH HAA(HBA-NSA-BHHYTY) BB 4,860,000 2,430,000 2,430,000
(201-502-01) EX-2 2,430,000
o WS N2 SAYTY HYWM 2 L AT
2,430,000,0008 2,430,000
PSD 2XMAN SLIEZAIAL &X 1,000,000 500,000 500,000
(201-502-01) EX-3 500,000
o PSD ZOHS AXHA (O HANL) LIEZAIAE &K
500,000,008} 500,000
NaHE 2017 e 1,050,000 0 1,050,000
(201-502-01) EX-2 1,050,000
o 3 M AA~FRA 2 8|7 WM 50,000,000 50,000
o 458 HAOIHY R 3¢ YT & BT A
1,000,000,0008! 1,000,000
NHE A A2ER 0Nl BTE= N 1,400,000 0 1,400,000
(201-502-01) EX-3 1,400,000
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(201-309-01) SAt

t& ol

o KXo

20,000
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20,000,000
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30,000
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98,130,339 95,479

98,225,818
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M- 33232 ME Ol &F o4 1S Ol &R s & O &= WS (&el - 8)
(SAECHEAMSHISLESIA)
cel . BXNXE 94,844,418 94,748,939 95,479
RS &(HZ0IX &8 95,479 0 95,479
(201-311-04) XL SA0I X4 & 95,479
o DAEE S 8501 &b &
174,248,000,000%+1.25%*16/365 = 95,479
(X15,642,600) (X15,642,600)
A EANSA HAZEM 408,650,237 407,061,596 1,588,641
(X15,642,600) (X15,642,600)
M HASSHY A KA L 22 408,574,255 406,985,614 1,688,641
(REAMLSEZA) (X15,642,600)  (X15,642,600)
Sl A AHIA SA L DISHDSBRIANE) BE0500Y 61,596,768 1,488,641
28 HAER A S LR 3,150,000 3,000,000 150,000
(202-401-01) Al&HI 150,000
o JIZ28¥ HAYFEA s LR 150,000,000& = 150,000
HAEZA 33 20/Tol £X &l 67,304 0 67,304
(202-201-02) S22l 67,304
o HAERA 33 2010l ZXId] 11,814,000 = 11,814
o HAERA 33 2A0/10| SIS 55,490,000& = 55,490
AUBHA R I He 1,271,337 0 1,271,337
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